22.

23,

24.

Explain the principle and working of cyclotron
with a neat diagram.

oa&GaTmiymer UL eumibgl DG SSHUSMSE
gafil Gevene Qe cllgsdlanar eferd@Gs.

Write an account on radiation hazards.

sgflussgdlamed ghuOL Pusgamar LHH eT(pas.

Describe the Quark model.
Geurrg wirdflulener elileufssayb.
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Time : Three hours

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions each in 30 words.

What do you mean by Mass defect?
Blenm G eTEmmTed ereiren ?

Define nuclear forces.

S| 58 (F NNFSENET GUETWIMIESHELD.

. What is half life period?
| ST UL ST ETETDTEd eTeiTen ?

What do you mean by radiocarbon dating?
sfflwss ariuer srwd saflliy erearugen GummeT
wimg ?

What is meant by radioactivity?

sHNWESHD GTETDI cTEme 2

Give the disadvantages of Geiger Muller counter.

masT o cranafluier Samwasmern gms.

Define nuclear fission.

SNa@ &5 Yera] cuanrwim.



10.

11.

12,

13.

14.

How radiation is used to preserve the food?

2_GTeyLl Qurr(njmm UTSISTES a;g‘)rreﬁ&& ereueumm)
2 saiding ?

Name the four types of hyperons?

Bret@ eflglorar emesliugrasaiier QLwirsman gngs.

State the law of conservation of baryons.

Guiwmenger SifleférenLo @9@@@»6&& SIS

What are neutrinos?

By ACeamréaer erempmed eremen 2

What do you mean by accelerators?

P OEH 6T eremmed ereiten ?
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions each in 200 words.

Write a note on (a) nuclear size (b) nuclear charge
and (c) nuclear mass.

(SN) Dgniss®m Slara| () SansEam Wetan b

oo (@) amssm Heop updl upd GOy

- GT(PSIS.

Write five properties on alpha rays.
QU sSM6T RHE LT S@aT 6T(LpSeyLD.
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15.

16,

17.

18:

19.

20.

21.

Explain the principle and working of Geiger
Muller counter with a neat diagram.

gfllurer UL SgIL et @ssi apdwir el Geauame
Qaiiuyd eflgbd wHmih g;sglm;glé]mm il a;.
Derive the law of radioactive disintegration.
sffluss Hmsey cNHliear aumad.

Describe the conservation laws.

Sfellenand aild afeul.

Describe the four fundamental interaétions.

Bren@ Slgliueml @afemasamer edeum.

Calculate the binding energy per nucleon for ;C'2.

Masses of proton, neutron and electron are
1.007276, 1.008665 and 0.00055 u respectlvely

The mass of ;C' atom is 12 amu.

Cl—ar gom Husalurgissrar Qaamiurbpee
samsf®s. LGy Lreflar  MHenp  1.007276u,
By grafiar flavp 1.008665u er@asgrafer Henm
0.00055u ,C" 6 flevp 12 amu.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

Explain the liquid drop model.

Sreuggiell wrdAullamer ellersEs.

Describe the Gamow’s theory of alpha decay.
LT sdi  Sevse nsaisatear EEN
Qanetengullaner eleufl. - '
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